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size = 4; J L RO —I0ES
pixel = 100; [ LR —IDE O ILE
for (i =0; pixel > i; i++) { fox (BB AEDIL—T
X = | X size / pixel - size / 2; // TEMCOELSE
for (j = 0; pixel > j; j++) { Ay (BER) ArEd)l—7
y = ] X size / pixel - size / 2: // EHLCOES
a =0; [ K YRBLETRICEDERHzDESE
b = 0; [ CYRBLERICEDERZHzD ESE
for (k = 0; 50 > k; k++) { // ERRZEBOE & T 3< UIRBRLETE
a=a¥a-bxb+ x; [/ 2" 2+CDEtE (56
b=2%axb+y; /2" 2+ CDETE (EEE)
a = _a; [ zDEEEFH (ES)
b = b; [ zDEZEEF (EEE)
if (axa+bxb>4) { f B LERENZZE GEXEDZENZE) BA Tz s
draw(i, j); G NDMBEOE2EILE RUoF I JORETHLE] TEYDRLT
break; fRODBDETEA
h



Sub v TILTRES()
Dim a As Double, b As Double
Dim i As Integer, j As Integer, k As Integer
Dim amax As Double, amin As Double
Dim bmax As Double, bmin As Double
Dim x As Double, y As Double, xdummy As Double, ydummy As Double
Dim n As Integer, kmax As Integer
Application.ScreenUpdating = False
amax=1.2
amin =-2

bmax =1.2 ,—

bmin = _ 12978
n =200 O. 14%' H:
kmax = 10 1517H

Fori=0Ton
_ Forj=0Ton
a=amin + (amax-amin) *i/n
b = bmin + (bmax - bmin) *j/n
x=0
y=0
—For k =1 To kmax
xdummy = x
ydummy =y
X=x*x-y*y+a
y =2 *xdummy * ydummy + b
—  IfSqr(x *x+y *vy)>2Then
col =k
Exit For
End If
col=0
—Next k

—

— Nextj
T Nexti
Application.ScreenUpdating = True
End Sub
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EHabbZFEE

5-61TH :E#MiLjEEE

7-81TH : E#amaxkaminZEEL. ¥IHIEZHRTE
9-101T B : Z#bmax&bminZEE L. *ﬂﬁ.ﬂfﬁﬁ'?ﬁi
11978 ZE#nZzEEL. DEIHEIETE
ZH#kmaxxEEL. Tﬁ&ﬁ@%ﬁi"&?’é‘fﬁ
ForXX TiZ0MbnE THEYIRT

ForX CjZE0hbnE THREYIRT

161TH : E#a% 5t E171TH - E#HbFEE

18-191TH : £ #ixLyZ#HI1E

2017 B :ForXX TkEF1MSkmaxE THEYIRT

2197H : Z#Hxdummy&ydummyl ZZE #ixEyDIEZ KA
221TH - EHxEE

231TH - E#yEFEE

24178
251TH
261TH
27978
281TH
291TH
31178

3-417H

ZITRITNIR, BE#collZ0%F KA
EILDEEREEELTEYDST
:NextX TkDIIL—TH#HET

‘NextX CiDIL—TEHET

‘NextX CiDIL—TEKT
AO)—2BE#HEEMNET D

Worksheets("Sheet1").Range(Cells(j + 2, i + 2), Cells(j + 2, i + 2)).Interior.Color = RGB((col * 20) Mod 255, (col * 20) Mod 255, (col * 20) Mod 255)

HL | x+yi| > 285 (E, Z#collTRERIFKERALT, ForXZEkIT5
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DChatGPTIZa—REIL &t python®—k
—E1T
% QUTDOIZ—D1=8. ChatGPTIZRWLVEHE
Image data of dtype object cannot be converted to float&EWND T5—MTEL=, HE?

import numpy as np U LTOEZ

import matplotlib.pyplot as plt

def mandelbrot(c, maxiter): Image data of dtype object cannot be converted to float &L\5IF-[d. NumPyE2FIDT-FEA
Z=C object [CREINTVRBEICRETRIENHYET, COLT-E F IR BE(CEETERNT-YE% imshow()
for n in range(maxiter): BHICELEBAICRELET,
if abs(z) > 2: CDIF5-%fEARTB(CE. mandel EEFIDT-FRZZEN NI SICERTINENHYET, LLTFOLIIC, astype() B

return n HEFERLT. NumPYESS DT - REEETRIENTEET -
z=2%2+cC @

mandel = mandel.astype(float
return O ype( )

Xmin, xmax, ymin, ymax =-2.5, 1.5, -2, 2
npoints = 1000

ZNICEY. BEFIOT-9EN float [CZEiEEN., T5-HERASNZRTTT,

maxiter = 100 | | | | | | | e, "f‘i%
X, Y = np.meshgrid(np.linspace(xmin, xmax, npoints), np.linspace(ymin, ymax, npoints)) <1Tiva
c=X+y*lj

mandel = np.frompyfunc(mandelbrot, 2, 1)(c, maxiter)

mandel = mandel.astype(float)

plt.imshow(mandel, extent=[xmin, xmax, ymin, ymax], cmap='viridis')
plt.axis('off')
plt.show()




W= T ILIOEENRBEZEZ-W0\EEIE. pythond— KD EZEZEZFTIMN?

ChatGPT®) [B] & FTIE. cmap='viridis'

BININYTIIOEEORZEEIBICE. imshow() BEETERSNSINI-VVTEEEIINENHYET, REDI-
TEZEINTVBViridis] LW HT-VYTMERSNTVET, EONT-V Y TEERITEIEETSE
£9, FIZE AT OESICThotINF-VYTEERT L. HRNBEEADITTT-Y3VICHVET,

import numpy as np
import matplotlib.pyplot as plt
def mandelbrot(c, maxiter):
Z=C
for n in range(maxiter):
if abs(z) > 2:
return n
z=2%+c
return 0
Xmin, xmax, ymin, ymax =-2.5, 1.5, -2, 2
npoints = 1000
maxiter = 100
X, Y = np.meshgrid(np.linspace(xmin, xmdx, npoints),
np.linspace(ymin, ymax, npoints))
c=X+y*lj
mandel = np.frompyfunc(mandelbrot] 2, 1)(c, maxiter)
mandel = mandel.astype(float) # T+—4% & Zfloat| ZZ- #h
plt.imshow(mandel, extent=[xmin, Xmax, ymin, ymax],
cmap='hot') # H5—<VT& 'hot'[ZEH
plt.axis('off')
plt.show()

import numpy as np
import matplotlib.pyplot as plt

from matplotlib.colors import LinearSegmentedColormap

#t HENBHBEANDHRAILNT—IVTEERK

colors = [(0.0, 0.0, 1.0), (1.0, 1.0, 1.0)]

cmap_name = 'blue_white'

cm = LinearSegmentedColormap.from_list(cmap_name, colors, N=256)
def mandelbrot(c, maxiter):

zZ=cC
for n in range(makxiter):
if abs(z) > 2:
return n
z=7%z+cC
return 0
Xmin, xmax, ymin, ymax =-2.5, 1.5, -2, 2
npoints = 1000
maxiter = 100
X, Y = np.meshgrid(np.linspace(xmin, xmax, npoints), np.linspace(ymin, ymakx,
npoints))
c=Xx+y*1j
mandel = np.frompyfunc(mandelbrot, 2, 1)(c, maxiter)
mandel = mandel.astype(float) # T—%&! % float|ZZE it
plt.imshow(mandel, extent=[xmin, xmax, ymin, ymax], cmap=cm) # I A3 L
Ho5—<vT%=ER
plt.axis('off')



cmap='viridis'

N\

Perceptually Uniform Sequential colormaps

plasma
inferno

magma

cividis

cmap=‘hot’

Sequential (2) colormaps
binary B 000
gist_yarg e
gist_gray
gray
bone
pink
spring
summer
autumn

winter

N e

gist_heat

copper

cmap_nhame = 'blue_white’




TUTNTOEE QEFEEELTHEALEL, | _
77?%7[!35?5:0)5@E?EEL'CTJZ?(?’%IC(ZL HEYHEEEETIINENDYEXT, EERIICIE. imshow() BIEITE :0)15“—6‘3:‘ |:|:| 'L\ II£\\(CX) CY)€EFI 'L\':\ III]EWXs %‘éwyw o_IL_]E

¥ extent NIA-FELEELET, - = . b [ —

ChatG PTO) @ﬁ‘él‘: LUFIE, S5 EIEELTULALEGITY,, 22Tl BAICIEE T 28 % xmin=-2.5, xmax=1.5, ymin=-2, ymax=2 & ﬂ%?ﬁ@bi?o XO, yo, Xl, yl% E-I-EL/\ |mShOW()F9§Z£(\

L. 2050 8% (cx, cy) [CEBELTVET, RICBESIHZNZEN wx, wy THEBEEEZHEBET2EHOFLV\ERE N - S (== - o N 'H'E

SHEL. 2% extent /\IA-FELT imshow() BBEITELTVET, INICKY, IEESNEEERNCYYTINIOEENE Iga—;&f\ *Eméhfhiﬂlﬂb ?E I_Ié*llij_o

BINET,

import numpy as np
import matplotlib.pyplot as plt
def mandelbrot(c, maxiter):

zZ=cC

for n in range(makxiter):

if abs(z) > 2:
retl(”)n N cx,cy=-0.75,0
z=27%z+cC

return 0
#1EEY SEFETIETE
Xmin, xmax, ymin, ymax =-2.5, 1.5, -2, 2
cx,cy=-0.75,0
wx, wy = 0.5, 0.5 # gL 5
npoints = 1000
maxiter = 100
# L KL-tR D EEZETE
X0, yO = cx - wx/2, cy - wy/2
x1, y1 =cx + wx/2, cy + wy/2
X, Y = np.meshgrid(np.linspace(x0, x1, npoints), np.linspace(y0, y1, npoints)) cx, cy =-0.75,0.4
c=x+y*1j
mandel = np.frompyfunc(mandelbrot, 2, 1)(c, maxiter)
mandel = mandel.astype(float)
plt.imshow(mandel, extent=[x0, x1, y0, y1], cmap='viridis')
plt.axis('off')
plt.show()




